
Australian Pump Industries Pty Ltd  |  7 Gladstone Road, Castle Hill NSW 2154  |  P: 02 8865 3500 |  F: 02 9894 4240  |  www.aussiepumps.com.au 

  GMP/NOV21/1 All prices EXCLUDE GST 

AUSSIE SPARES DIAGRAM & PARTS LIST 
AUSSIE GMP PUMPS:  

Part Number Qty Description List price 

6220 6 Screw T.E.M 8x40 $3 

5441 2 Flex. Gasket 0.2mm $13 

* 5447 1 Counterface 34-57-10 (Tungsten) $507 

5867 1 Counterweight B3XR-A $20 

6030 1 Flex. Gasket B 2587 $13 

6103 1 Check Valve B 2583/1 83 

6161 1 Washer D.7x75x2.5 $12 

6168 1 Washer B 2621/2 $8 

6169 2 Copper Washer $5 

6209 1 Conical Tap ¼" Gas $7 

6213 1 Conical Tap 1" Gas 8 

6218 1 Hex. Head Screw M6x12 $3 

6243 4 T.E.Screw M 12x25 $7 

6263 7 OEB Screw M 10x30 $3 

** 6341 1 Optional Seal (Carbon) 58 

** 6355 1 Optional Counterface (Ceramic) $41 

6841 1 Rivet 6.5x20 5 

6949 1 Flange $281 

7726 6 Copper Washer $3 

B3XR-A/ST FOR 1” YANMAR KEY shaft engine  

Cat AACO 

Part Number Qty Description List price 

8185 8 Torque Nut M5 A2 $5 

8919 1 Pump Body B3XR-A/ST $2,400 

8925 1 Valve B3XR-A/ST $492 

8931 1 Inspection Door $130 

8937 2 Gasket Door B3XR-A/ST $20 

H912 1 Complete Wear disc $159 

8975 2 Complete Pin M10 58 

A662 1 Elastic Washer M10 $36 

F159 3 Washer $7 

6254 4 Screw M8-25 Yanmar $6 

* F976 1 Mech. Seal 32-54-15(Si Car) $400 

H021 1 Bracket $870 

H022 1 Sleeve D.25.4/32/H47 $88 

H342 2 Screw M 10x55 $12 

H848 1 Washer Yanmar L100 $8 

L134 1 Screw 7/16 – 20 UNF Yanmar $6 

L380 1 Impeller Yanmar L100 $642 


